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Find the slope a@ each line.
1

= E.yri.r—Z

1 y=3x+1

3. y=—4x+3 4. x+y=35
6. x+y-7=0 6. y+4=>5x
T. y-2x=0 8. y=3 m

Find the slope and y-intercept of each line.

(55

9. 4x+2y=3 10. x-y=4 m ’ __,2..- — ll _t. \

11. 3x+ 2y +6=0 12. 2y+6=0 % 1
13. x-3y-9=0 14. 5x+2y=10 @:_p‘ = J.52

15. 22x+0.5y-1=0 18. 0=x-2y-4

17. 6.4x=0.8y

18. 12¢-03y=0.12Y| = |

Find the slope and y-intercept of the line through the
given points.

19. (1,3)and (3, 5) 20. (2,3)and (-1, 6)
21. (-7,-2)and (-1,-8) 22. (-1,-2)and (-5, -10)
23. (2, 1)and (6, 4 24. (-1,2)and (3,9
25. (6,9 and (-2,-5) 26. (4,-5)and (-2,3)

Given the slope and y-intercept, write an equation of
the line in the slope and y-intercept form. Then, write
the equation in standard form.

I; 27. m=2;b=3 28, m=3;b=-2
| 29. m=+i4;b=6 30. m=55;b=—?

31. m=—;, b=1 32. m=—; b=-2
‘ 2 73

34. m=+—§; ..‘J=+~l

33. m=-0.5b=0 3

B 85. Explain why these lines belong to a family.

Applications

B

83. Algebra An equation ofa line is y = 2x + b.
Find the value of 4 if the line passes through the
point

a) (4,2) b) (3,5 ¢ 2,-6) d) (-1,-3)
84. Algebra An equation of a line is y = mx + 3.
Find the value of 7 if the line passes through the
point

a) 2,1) b) (-4,5) ¢) (4,-5) d) (-1,-6)
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